

# On Feng Qi-type integral inequalities for local fractional integrals

Abdullah Akkurt<sup>1</sup>, M. Zeki Sarıkaya<sup>2</sup>, Hüseyin Budak<sup>3</sup>, Hüseyin Yıldırım<sup>4</sup>

<sup>1,4</sup>Department of Mathematics, University of Kahramanmaraş Sütçü İmam, Kahramanmaraş, Turkey

<sup>2,3</sup>Department of Mathematics, Düzce University, Düzce, Turkey

Received: 8 March 2022, Accepted: 8 May 2022

Published online: 16 September 2022.

**Abstract:** In this paper, we establish the generalized Qi-type inequality involving local fractional integrals on fractal sets  $\mathbb{R}^\alpha$  ( $0 < \alpha < 1$ ) of real line numbers. Some applications for special means of fractal sets  $\mathbb{R}^\alpha$  are also given. The results presented here would provide extensions of those given in earlier works.

**Keywords:** Local fractional integrals, Generalized Qi inequality, Integral inequalities.

## 1 Introduction

In recent years, there have been many useful developments in the theory of inequalities, which is one of the important areas of mathematics. One of these fields is fractional integral inequalities. The reason why fractional integral inequalities are so important is that they are new and open to development. Integral inequalities have been frequently employed in the theory of applied sciences, differential equations, and functional analysis. In the last two decades, they have been the focus of attention in [3]-[7]. Recently, especially Qi inequality, one of the integral inequalities, has been studied by many authors. Recall the famous integral inequality of Feng Qi type:

**Theorem 1.** (Proposition 1.1, [7]). Let  $f(x)$  be differentiable on  $(a, b)$  and  $f(a) = 0$ . If  $f'(x) \geq 1$  for  $x \in (a, b)$ , then

$$\left( \int_a^b [f(t)]^3 dt \right) \geq \left( \int_a^b f(t) dt \right)^2. \quad (1)$$

If  $0 \leq f'(x) \leq 1$ , then the inequality (1) reverses.

**Theorem 2.** (Proposition 1.3, [7]). Let  $n$  be a positive integer. Suppose  $f(x)$  has continuous derivative of the  $n$ -th order on the interval  $[a, b]$  such that  $f^{(i)}(a) \geq 0$ , where  $0 \leq i \leq n-1$ ,  $f^{(n)}(x) \geq n!$ , then

$$\left( \int_a^b [f(t)]^{n+2} dt \right) \geq \left( \int_a^b f(t) dt \right)^{n+1}. \quad (2)$$

In [6], Ngô et al. gave the following inequality which is one of the open problem's solution. Let  $f(x)$  be differentiable on  $(a, b)$  and  $f(a) = 0$ . If  $f'(x) \geq 1$  for  $x \in (a, b)$ , then where  $f \in C^n(a, b)$ ,  $f^{(i)} \geq 0$ ,  $0 \leq i \leq n$ ,  $f^{(n)} \geq n!$ ,  $n \in \mathbb{Z}$ .

**Theorem 3.** Let  $f \in C[0, 1]$  and  $f(x) \geq 0$  for every  $x \in [0, 1]$ . If

$$\int_x^1 f(t) dt \geq \frac{1-x^2}{2} \quad (3)$$

then, for every  $n \in \mathbb{N}$

$$\int_0^1 f^{n+1}(t) dt \geq \int_0^1 t^n f(t) dt \quad (4)$$

holds.

## 2 Preliminaries

**Definition 1.** [11] A non-differentiable function  $f: R \rightarrow R^\alpha$ ,  $x \rightarrow f(x)$  is called to be local fractional continuous at  $x_0$ , if for any  $\varepsilon > 0$ , there exists  $\delta > 0$ , such that

$$|f(x) - f(x_0)| < \varepsilon^\alpha$$

holds for  $|x - x_0| < \delta$ , where  $\varepsilon, \delta \in R$ . If  $f(x)$  is local continuous on the interval  $(a, b)$ , we denote  $f(x) \in C_\alpha(a, b)$ .

**Definition 2.** [11] The local fractional derivative of  $f(x)$  of order  $\alpha$  at  $x = x_0$  is defined by

$$f^{(\alpha)}(x_0) = \left. \frac{d^\alpha f(x)}{dx^\alpha} \right|_{x=x_0} = \lim_{x \rightarrow x_0} \frac{\Delta^\alpha (f(x) - f(x_0))}{(x - x_0)^\alpha},$$

where  $\Delta^\alpha (f(x) - f(x_0)) \cong \Gamma(\alpha + 1) (f(x) - f(x_0))$ .

If there exists  $f^{(k+1)\alpha}(x) = \overbrace{D_x^\alpha \dots D_x^\alpha}^{k+1 \text{ times}} f(x)$  for any  $x \in I \subseteq R$ , then we denoted  $f \in D_{(k+1)\alpha}(I)$ , where  $k = 0, 1, 2, \dots$

**Definition 3.** [11] Let  $f(x) \in C_\alpha[a, b]$ . Then the local fractional integral is defined by,

$${}_a I_b^\alpha f(x) = \frac{1}{\Gamma(\alpha + 1)} \int_a^b f(t) (dt)^\alpha = \frac{1}{\Gamma(\alpha + 1)} \lim_{\Delta t \rightarrow 0} \sum_{j=0}^{N-1} f(t_j) (\Delta t_j)^\alpha,$$

with  $\Delta t_j = t_{j+1} - t_j$  and  $\Delta t = \max\{\Delta t_1, \Delta t_2, \dots, \Delta t_{N-1}\}$ , where  $[t_j, t_{j+1}]$ ,  $j = 0, \dots, N-1$  and  $a = t_0 < t_1 < \dots < t_{N-1} < t_N = b$  is partition of interval  $[a, b]$ . Here, it follows that  ${}_a I_b^\alpha f(x) = 0$  if  $a = b$  and  ${}_a I_b^\alpha f(x) = -{}_b I_a^\alpha f(x)$  if  $a < b$ . If for any  $x \in [a, b]$ , there exists  ${}_a I_x^\alpha f(x)$ , then we denoted by  $f(x) \in I_x^\alpha[a, b]$ .

**Lemma 1.** [11].

(1) (Local fractional integration is anti-differentiation) Suppose that  $f(x) = g^{(\alpha)}(x) \in C_\alpha[a, b]$ , then we have

$${}_a I_b^\alpha f(x) = g(b) - g(a).$$

(2) (Local fractional integration by parts) Suppose that  $f(x), g(x) \in D_\alpha[a, b]$  and  $f^{(\alpha)}(x), g^{(\alpha)}(x) \in C_\alpha[a, b]$ , then we have

$${}_a I_b^\alpha f(x) g^{(\alpha)}(x) = f(x) g(x) \Big|_a^b - {}_a I_b^\alpha f^{(\alpha)}(x) g(x).$$

**Lemma 2.** [11].

$$\frac{d^\alpha x^{k\alpha}}{dx^\alpha} = \frac{\Gamma(1+k\alpha)}{\Gamma(1+(k-1)\alpha)} x^{(k-1)\alpha};$$

$$\frac{1}{\Gamma(\alpha+1)} \int_a^b x^{k\alpha} (dx)^\alpha = \frac{\Gamma(1+k\alpha)}{\Gamma(1+(k+1)\alpha)} \left( b^{(k+1)\alpha} - a^{(k+1)\alpha} \right), k \in R.$$

The interested reader is referred to [8]-[15] for local fractional theory.

The aim of the paper is to establish some generalized Qi-inequality involving local fractional integrals.

### 3 Main results

We start the following important inequality for local fractional integrals:

**Theorem 4.** Let  $f(x) \in C_\alpha[a, b]$  and  $f(a) = 0$ . If  $0^\alpha \leq \frac{[f'(x)]^\alpha}{\Gamma(\alpha+1)} \leq 1^\alpha$ , then

$$\frac{1}{\Gamma(\alpha+1)} \int_a^t [f(x)]^{3\alpha} (dx)^\alpha \leq \left( \int_a^t f(x) dx \right)^{2\alpha}. \tag{5}$$

*Proof.* Let

$$F(t) = \left( \int_a^t f(x) dx \right)^{2\alpha} - \frac{1}{\Gamma(\alpha+1)} \int_a^t [f(x)]^{3\alpha} (dx)^\alpha.$$

Simple computation yields

$$F^{(\alpha)}(t) = \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} \left( \int_a^t f(x) dx \right)^\alpha [f(t)]^\alpha - [f(t)]^{3\alpha} = \left[ \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} \left( \int_a^t f(x) dx \right)^\alpha - [f(t)]^{2\alpha} \right] [f(t)]^\alpha = G(t) [f(t)]^\alpha.$$

$$G^{(\alpha)}(t) = \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} \Gamma(1+\alpha) [f(t)]^\alpha - \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} [f(t)]^\alpha [f'(t)]^\alpha = \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} \left[ \Gamma(1+\alpha) - [f'(t)]^\alpha \right] [f(t)]^\alpha.$$

Since  $[f'(t)]^\alpha \geq 0$  and  $f(a) = 0$ , thus  $f(t)$  is increasing and  $f(t) \geq 0$ . When  $0^\alpha \leq \frac{[f'(x)]^\alpha}{\Gamma(\alpha+1)} \leq 1^\alpha$ , we have  $G^{(\alpha)}(t) \geq 0$ ,  $G(t)$  increases and  $G(t) \geq 0$  because of  $G(a) = 0$ , hence  $F^{(\alpha)}(t) = G(t) [f(t)]^\alpha$ ,  $F^{(\alpha)}(t)$  is increasing. Since  $F(a) = 0$ , we have  $F(t) > 0$ , and  $F(b) > 0$ . Therefore, the inequality (5) holds.

*Remark.* If we choose  $\alpha = 1$  in (5), then we have Proposition 1.1 in [7].

**Theorem 5.** Let  $f(x) \in C_\alpha[a, b]$ ,  $f^{(i)}(a) \geq 0$  and  $f^{(n)}(x) \geq \Gamma(1+n\alpha)$ , where  $0^\alpha \leq \frac{[f'(x)]^\alpha}{\Gamma(\alpha+1)} \leq 1^\alpha$ , then

$$\frac{1}{\Gamma(\alpha+1)} \int_a^t [f(x)]^{(n+2)\alpha} (dx)^\alpha \geq \left( \int_a^t f(x) dx \right)^{(n+1)\alpha}. \tag{6}$$

*Proof.* Let

$$H(t) = \frac{1}{\Gamma(\alpha+1)} \int_a^t [f(x)]^{(n+2)\alpha} (dx)^\alpha - \left( \int_a^t f(x) dx \right)^{(n+1)\alpha}.$$

Simple computation yields

$$\begin{aligned} H^{(\alpha)}(t) &= [f(t)]^{(n+2)\alpha} - \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+n\alpha)} \left( \int_a^t f(x) dx \right)^{n\alpha} [f(t)]^\alpha \\ &= \left[ [f(t)]^{(n+1)\alpha} - \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+n\alpha)} \left( \int_a^t f(x) dx \right)^{n\alpha} \right] [f(t)]^\alpha \\ &= h_1(t) [f(t)]^\alpha. \end{aligned}$$

Direct calculation produces

$$\begin{aligned} h_1^{(\alpha)}(t) &= \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+n\alpha)} [f(t)]^{n\alpha} [f'(t)]^\alpha - \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+(n-1)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-1)\alpha} [f(t)]^\alpha \\ &= \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+n\alpha)} \left[ [f(t)]^{(n-1)\alpha} [f'(t)]^\alpha - \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n-1)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-1)\alpha} \right] [f(t)]^\alpha \\ &= \frac{\Gamma(1+(n+1)\alpha)}{\Gamma(1+n\alpha)} h_2(t) [f(t)]^\alpha, \end{aligned}$$

$$\begin{aligned} h_2^{(\alpha)}(t) &= \frac{\Gamma(1+(n-1)\alpha)}{\Gamma(1+(n-2)\alpha)} [f(t)]^{(n-2)\alpha} [f'(t)]^{2\alpha} + \Gamma(1+\alpha) [f(t)]^{(n-1)\alpha} [f''(t)]^\alpha \\ &\quad - \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n-1)\alpha)} \frac{\Gamma(1+(n-1)\alpha)}{\Gamma(1+(n-2)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-2)\alpha} [f(t)]^\alpha \\ &= h_3(t) [f(t)]^\alpha, \end{aligned}$$

and

$$\begin{aligned} h_3^{(\alpha)}(t) &= \frac{\Gamma(1+(n-1)\alpha)}{\Gamma(1+(n-2)\alpha)} \frac{\Gamma(1+(n-3)\alpha)}{\Gamma(1+(n-4)\alpha)} [f(t)]^{(n-4)\alpha} [f'(t)]^{3\alpha} \\ &\quad + \frac{\Gamma(1+(n-1)\alpha)}{\Gamma(1+(n-2)\alpha)} \frac{\Gamma(1+2\alpha)}{\Gamma(1+\alpha)} [f(t)]^{(n-3)\alpha} [f'(t)]^\alpha [f''(t)]^\alpha \\ &\quad + \Gamma(1+\alpha) \frac{\Gamma(1+(n-2)\alpha)}{\Gamma(1+(n-3)\alpha)} [f(t)]^{(n-3)\alpha} [f'(t)]^\alpha [f''(t)]^\alpha \\ &\quad + \Gamma^2(1+\alpha) [f(t)]^{(n-2)\alpha} [f'''(t)]^\alpha \\ &\quad - \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n-3)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-3)\alpha} [f(t)]^\alpha \end{aligned}$$

$$\begin{aligned}
 &= \left\{ \Gamma^2(1 + \alpha) [f(t)]^{(n-3)\alpha} [f'''(t)]^\alpha + \frac{\Gamma(1 + (n-1)\alpha) \Gamma(1 + (n-3)\alpha)}{\Gamma(1 + (n-2)\alpha) \Gamma(1 + (n-4)\alpha)} [f(t)]^{(n-5)\alpha} [f'(t)]^{3\alpha} \right. \\
 &\quad + \frac{\Gamma(1 + (n-1)\alpha) \Gamma(1 + 2\alpha)}{\Gamma(1 + (n-2)\alpha) \Gamma(1 + \alpha)} [f(t)]^{(n-4)\alpha} [f'(t)]^\alpha [f''(t)]^\alpha \\
 &\quad + \Gamma(1 + \alpha) \frac{\Gamma(1 + (n-2)\alpha)}{\Gamma(1 + (n-3)\alpha)} [f(t)]^{(n-4)\alpha} [f'(t)]^\alpha [f''(t)]^\alpha \\
 &\quad \left. - \frac{\Gamma(1 + n\alpha)}{\Gamma(1 + (n-3)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-3)\alpha} \right\} [f(t)]^\alpha \\
 &= h_4(t) [f(t)]^\alpha.
 \end{aligned}$$

By induction, we obtain

$$\begin{aligned}
 h_i^{(\alpha)}(t) &= \left\{ [\Gamma(1 + \alpha)]^{(i-1)} [f(t)]^{(n-i)\alpha} [f^{(i)}(t)]^\alpha + P_i(t) \right. \\
 &\quad \left. - \frac{\Gamma(1 + n\alpha)}{\Gamma(1 + (n-i)\alpha)} \left( \int_a^t f(x) dx \right)^{(n-i)\alpha} \right\} [f(t)]^\alpha \\
 &= h_{i+1}(t) [f(t)]^\alpha.
 \end{aligned}$$

where  $2 < i < n$  and

$$\begin{aligned}
 P_2(t) &= \frac{\Gamma(1 + (n-1)\alpha)}{\Gamma(1 + (n-2)\alpha)} [f(t)]^{(n-3)\alpha} [f'(t)]^{2\alpha}, \\
 P_{i+1}(t) [f(t)]^\alpha &= P_i^{(\alpha)}(t) + \Gamma(1 + \alpha) \frac{\Gamma(1 + (n-i)\alpha)}{\Gamma(1 + (n-(i+1))\alpha)} [f(t)]^{(n-(i+1))\alpha} [f^{(i)}(t)]^\alpha [f'(t)]^\alpha.
 \end{aligned}$$

From  $f^{(n)}(x) \geq \Gamma(1 + n\alpha)$  and  $f^{(i)}(a) \geq 0$  for  $0 \leq i \leq n-1$ , it follows that  $f^{(i)}(t) \geq 0$  and are increasing for  $0 \leq i \leq n-1$ .

Therefore, we obtain  $p_k^{(\alpha)}(t) \geq 0$  and  $p_{k+1}(t) \geq 0$ , then  $p_{k-1}^{(\alpha)}(t) \geq 0$  and  $p_k(t) \geq 0$  are increasing for  $2 \leq k \leq n$ . Straightforward computation yields

$$h_{n+1}(t) = [\Gamma(1 + \alpha)]^{(n-1)} [f^{(n)}(t)]^\alpha + p_i(t) - \Gamma(1 + n\alpha).$$

Considering  $f^{(n)}(x) \geq \Gamma(1 + n\alpha)$ , we get  $h_{n+1}(t) \geq 0$ , and  $h_n^{(\alpha)}(t) \geq 0$ , then  $h_n(t)$  increases.

By our definitions of  $h_i(t)$ , we have, for  $1 \leq i \leq n-1$ ,

$$h_{n+1}(a) = [f(a)]^{(n-i)\alpha} [f^{(i)}(a)]^\alpha + p_i(a) \geq 0.$$

Therefore, using induction on  $i$ , we obtain  $h_i^{(\alpha)}(t) \geq 0$ ,  $h_i(t) \geq 0$ , and  $h_i(t)$  are increasing for  $1 \leq i \leq n$ . Then  $H_i^{(\alpha)}(t) \geq 0$  and increases, and  $H_i(t) \geq 0$ . The inequality (6) follows from  $H(b) \geq 0$ . Thus, Theorem 5 is proved.

*Remark.* If we choose  $\alpha = 1$  in (6), then we have Proposition 1.3 in [7].

**Theorem 6.** Let  $f(x) \in C_\alpha [0, 1]$  satisfying

$$\int_t^1 f(x) (dx)^\alpha \geq \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} (1^{2\alpha} - t^{2\alpha}), \quad \forall t \in [0, 1], \quad (7)$$

then

$$\frac{1}{\Gamma(1+\alpha)} \int_0^1 t^\alpha f(t) (dt)^\alpha \geq \left[ \frac{1}{\Gamma(1+2\alpha)} - \frac{\Gamma(1+\alpha)}{\Gamma(1+3\alpha)} \right]. \quad (8)$$

*Proof.* Let

$$\int_0^1 \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha.$$

By using our assumption we have

$$\begin{aligned} \int_0^1 \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha &\geq \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \int_0^1 (1^{2\alpha} - t^{2\alpha}) (dt)^\alpha \\ &= \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \left[ \frac{1}{\Gamma(1+\alpha)} - \frac{\Gamma(1+2\alpha)}{\Gamma(1+3\alpha)} \right] \\ &= \left[ \frac{1}{\Gamma(1+2\alpha)} - \frac{\Gamma(1+\alpha)}{\Gamma(1+3\alpha)} \right]. \end{aligned}$$

On the other hand, integrating by parts, we also get

$$\begin{aligned} \int_0^1 \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha &= \frac{t^\alpha}{\Gamma(1+\alpha)} \left( \int_t^1 f(x) (dx)^\alpha \right) \Big|_0^1 + \frac{1}{\Gamma(1+\alpha)} \int_0^1 t^\alpha f(t) (dt)^\alpha \\ &= \frac{1}{\Gamma(1+\alpha)} \int_0^1 t^\alpha f(t) (dt)^\alpha \end{aligned}$$

Thus,

$$\frac{1}{\Gamma(1+\alpha)} \int_0^1 t^\alpha f(t) (dt)^\alpha \geq \left[ \frac{1}{\Gamma(1+2\alpha)} - \frac{\Gamma(1+\alpha)}{\Gamma(1+3\alpha)} \right].$$

The proof is completed.

**Theorem 7.** If (7) holds then we have,

$$\int_0^1 t^{(n+1)\alpha} f(t) (dt)^\alpha \geq \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \left[ 1 - \frac{\Gamma(1+(n+1)\alpha)\Gamma(1+(n+2)\alpha)}{\Gamma(1+n\alpha)\Gamma(1+(n+3)\alpha)} \right]. \quad (9)$$

*Proof.* Let

$$\int_0^1 t^{n\alpha} \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha.$$

Integrating by parts, we have

$$\begin{aligned} \int_0^1 t^{n\alpha} \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha &= t^{(n+1)\alpha} \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n+1)\alpha)} \left( \int_t^1 f(x) (dx)^\alpha \right) \Big|_0^1 \\ &\quad + \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n+1)\alpha)} \int_0^1 t^{(n+1)\alpha} f(t) (dt)^\alpha \\ &= \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n+1)\alpha)} \int_0^1 t^{(n+1)\alpha} f(t) (dt)^\alpha \end{aligned}$$

On the other hand, by using our assumption we have

$$\begin{aligned} \int_0^1 t^{n\alpha} \left( \int_t^1 f(x) (dx)^\alpha \right) (dt)^\alpha &\geq \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \int_0^1 t^{n\alpha} (1^{2\alpha} - t^{2\alpha}) (dt)^\alpha \\ &= \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \left[ \frac{\Gamma(1+n\alpha)}{\Gamma(1+(n+1)\alpha)} - \frac{\Gamma(1+(n+2)\alpha)}{\Gamma(1+(n+3)\alpha)} \right] \end{aligned}$$

Thus,

$$\int_0^1 t^{(n+1)\alpha} f(t) (dt)^\alpha \geq \frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \left[ 1 - \frac{\Gamma(1+(n+1)\alpha)\Gamma(1+(n+2)\alpha)}{\Gamma(1+n\alpha)\Gamma(1+(n+3)\alpha)} \right].$$

The proof is completed.

*Remark.* If we choose  $\alpha = 1$  in (9), then we have Lemma 1.3 in [6].

## 4 Conclusion

In the present paper, we establish the generalized Qi-type inequality involving local fractional integrals on fractal sets  $\mathbb{R}^\alpha$  ( $0 < \alpha < 1$ ) of real line numbers. Some applications for special means of fractal sets  $\mathbb{R}^\alpha$  are also given. Some special cases are also discussed.

## 5 Acknowledgement

This work was carried out in collaboration between all authors.

## References

- [1] Akkurt, A., Yıldırım, H., On Feng Qi Type Integral Inequalities For Generalized Fractional Integrals. *Fen Bilimleri Dergisi*, 1(2), 2014.
- [2] Bougoffa, L., Note on an open problem, *J. Inequal. Pure Appl. Math.*, 8(2), Art. 58, 2007.
- [3] Boukerrioua, K., Guezane-Lakoud, A., On an open question regarding an integral inequality, *J. Inequal. Pure Appl. Math.*, 8(3), Art. 77, 2007.
- [4] Dahmani, Z., Belarabi, S., Some inequalities of Qi type using fractional integration, *International Journal of Nonlinear Science* Vol.10(2010) No.4, pp.396-400
- [5] Budak, H., On Fejer Type Inequalities for Convex Mappings Utilizing Fractional Integrals of a Function with Respect to Another Function, *Results Math* (2019) 74: 29. <https://doi.org/10.1007/s00025-019-0960-8>.

- [6] Ngô, Q.A., Thang, D.D., Dat, T.T., Tuan, D.A., Note on an integral inequality, *J. Inequal. Pure Appl. Math.*, 7(4), Art. 120, 2006. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=737>].
- [7] Qi, F., Several integral inequalities, *J. Inequal. Pure and Appl. Math.*, 1(2), Art. 19, 2000. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=113>].
- [8] Sarıkaya, M.Z., Erden, S., Budak, H., Some generalized Ostrowski type inequalities involving local fractional integrals and applications, *Advances in Inequalities and Applications*, 2016:6.
- [9] Sarıkaya, M.Z., Erden, S., Budak, H., Some integral inequalities for local fractional integrals, *RGMA Research Report Collection*, 18, Article 65, 12 pp 2015.
- [10] Sarıkaya, M.Z., Tunç, T., Budak, H., On generalized some integral inequalities for local fractional integrals, *Applied Mathematics and Computation*, 276, 316-323, 2016.
- [11] Yang, X.J., *Advanced Local Fractional Calculus and Its Applications*, World Science Publisher, New York, 2012.
- [12] Yang, J., Baleanu, D., Yang, X.J., Analysis of fractal wave equations by local fractional Fourier series method, *Adv. Math. Phys.*, Article ID 632309, 2013.
- [13] Yang, X.J., Local fractional integral equations and their applications, *Advances in Computer Science and its Applications (ACSA)* 1(4), 2012.
- [14] Yang, X.J., Generalized local fractional Taylor's formula with local fractional derivative, *Journal of Expert Systems*, 1(1) 26-30, 2012.
- [15] Yang, X.J., Local fractional Fourier analysis, *Advances in Mechanical Engineering and its Applications* 1(1), 12-16, 2012.
- [16] Yıldırım, M.E., Akkurt, A., Yıldırım, H., Generalized Qi's Integral Inequality, *Cumhuriyet Science Journal*, vol: 37 (1) pp: 12, 2016, DOI:10.17776/cs.j.10671